Multiply and Divide by 10° (A)

Find each product or quotient.

8,7 x 103 = 5,7:103 =
5,1683 X 103 = 8,06 X 103 =
8,3:10% = 2,463 :10° =
4,045 :10% = 9,3 x 10° =
8,619 : 103 = 6,085 : 103 =
0,0866 x 10° = 2,6651 x 103 =
2,54 X 103 = 3,3:10% =

0,9 x 103 = 7,9258: 103 =
8,5 x 103 = 1,038:103 =
9,8488 x 103 = 4 %103 =
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Multiply and Divide by 10° (A) Answers

Find each product or quotient.

8,7 x 10° =8.700

5,1683 x 10° = 5.168,3

8,3:10°=0,0083

4,045 : 10° = 0,004045

8,619 :10°=0,008619

0,0866 x 10° = 86,6

2,54 x 10° = 2.540

0,9 x 10° =900

8,5 x 10° = 8.500

9,8488 x 10° =9.848,8

5,7 :10°=0,0057

8,06 x 10° = 8.060

2,463 :10° = 0,002463

9,3 X 10° =9.300

6,085 : 10° = 0,006085

2,6651 x 10° = 2.665,1

3,3:10°=0,0033

7,9258:10% = 0,0079258

1,038:10°=0,001038

4 x10° =4.000
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Multiply and Divide by 10> (B)

Find each product or quotient.

7,6 X 10° = 0,61 x 10° =
8,79 :103 = 47 x 103 =
4,7367 : 10° = 57963 : 103 =
7,617 :10° = 8,2:10% =

9,6 X 10° = 6,44 :10°% =
2,1:10° = 4,653 :10° =
4337 x 103 = 9,75:103 =
4,21 x 10° = 2,6669 x 10% =
4,6686 x 10° = 835:10% =
2:10% = 7,4366 x 10% =
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Multiply and Divide by 10° (B) Answers

Find each product or quotient.

7,6 X 10° = 7.600

8,79:10° =0,00879

4,7367 : 10° = 0,0047367

7,617 : 10° = 0,007617

9,6 X 10° =9.600

2,1:10°=0,0021

4,337 x 10° = 4.337

4,21 x 10° = 4.210

4,6686 X 10° = 4.668,6

2:10°=0,002

0,61 x 10° =610

4,7 x 10° = 4.700

5,7963 :10% = 0,0057963

8,2:10°=0,0082

6,44 :10° = 0,00644

4,653 :10° =0,004653

9,75:10° =0,00975

2,6669 x 10° = 2.666,9

8,35:10° =0,00835

7,4366 X 10° = 7.436,6
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Multiply and Divide by 10> (C)

Find each product or quotient.

7,9:10° = 5,456 :10° =
0,1x10°= 3,75:10% =
3,03:10° = 3,96 x 10° =
5,3731:103 = 2,1 %103 =
1:10% = 8,6 X 10° =
2,427 :103 = 51:103 =
6,9689 x 10° = 5,07 :103 =
8,5728 x 103 = 4,0484 : 103 =
9,5054 x 103 = 6:103 =
4,9:10° = 2,538:10°% =
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Multiply and Divide by 103 (C) Answers

Find each product or quotient.

7,9:10%°=0,0079

0,1 x 10° =100

3,03:10°=0,00303

5,3731:10°=0,0053731

1:10°=0,001

2,427 :10° = 0,002427

6,9689 x 10° = 6.968,9

8,5728 x 10°> =8.572,8

9,5054 x 10° =9.505,4

4,9:10°=0,0049

5,456 : 103 = 0,005456

3,75:10°=0,00375

3,96 x 10° = 3.960

2,1 x10%=2.100

8,6 x 10° = 8.600

5,1:10°=0,0051

5,07:10°=0,00507

4,0484 :10° = 0,0040484

6:10° = 0,006

2,538:10°=0,002538
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Multiply and Divide by 10° (D)

Find each product or quotient.

3,294 x 10% = 6,6 X 103 =
5,755 : 103 = 7,428:10° =

3 %103 = 9,8:103 =
0,173:103 = 1,9436 x 103 =
8,4 x 103 = 4,6:10°% =

7,69 X 103 = 2,8187 : 103 =
2,879:10% = 2,1972:10% =
0,1384 x 10% = 4,423:10% =
6,71:10% = 9,4:10% =
4,812 x 103 = 1,8 x 103 =
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Multiply and Divide by 10° (D) Answers

Find each product or quotient.

3,294 x 10° = 3.294

5,755:10° = 0,005755

3 x 10 =3.000

0,173:10°=0,000173

8,4 x 10° = 8.400

7,69 x 10° = 7.690

2,879 :10° = 0,002879

0,1384 x 10°> = 138,4

6,71:10°=0,00671

4,812 x 10° = 4.812

6,6 X 10° = 6.600

7,428 :10° = 0,007428

9,8:10°=0,0098

1,9436 x 10° = 1.943,6

4,6:10° = 0,0046

2,8187 :10° = 0,0028187

2,1972:10°=0,0021972

4,423 :10° =0,004423

9,4:10°=0,0094

1,8 x 10° = 1.800
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Multiply and Divide by 10> (E)

Find each product or quotient.

5,07 :10% = 0,34 X 103 =
2,6 X 103 = 4,2:103% =
8,73:10° = 5,5 % 103 =
3,1994:10° = 8,4526 x 10 =
7,2 %103 = 3,812 x 103 =
3,03:10° = 7,7385:10% =
3,02:10% = 5,276:10% =
8,593 :10°% = 1,49 x 10% =
2,612 x 103 = 3,2473 X 103 =
6,44 x 10% = 2,53 X 10% =
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Multiply and Divide by 10° (E) Answers

Find each product or quotient.

5,07 :10°=0,00507

2,6 X 10° = 2.600

8,73:10°=0,00873

3,1994:10% = 0,0031994

7,2 X 10° =7.200

3,03:10°=0,00303

3,02:10°=0,00302

8,593 :10° = 0,008593

2,612 X 10° =2.612

6,44 X 10° = 6.440

0,34 x 10% = 340

4,2:10%=0,0042

5,5 % 10° = 5.500

8,4526 x 10° = 8.452,6

3,812 x 10°* =3.812

7,7385:10° =0,0077385

5,276 :10° = 0,005276

1,49 x 10° = 1.490

3,2473 x 10° = 3.247,3

2,53 x 10% = 2.530
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Multiply and Divide by 10° (F)

Find each product or quotient.

8,67 X 10% = 0,516 x 103 =
3,39:10% = 0,154 x 103 =
9,1:10% = 5,4:10% =
3,58 X 103 = 0,31:10% =
9,45 x 103 = 0,1 x 103 =
8,6 X 10% = 8,7 x 103 =
9,47 x 103 = 6,36:10% =
3,821:103 = 7,9553:10% =
8,797 x 103 = 9,0721:103 =
3,068 : 103 = 2,631 x 103 =
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Multiply and Divide by 10° (F) Answers

Find each product or quotient.

8,67 X 10° =8.670

3,39:10°=0,00339

9,1:10°=0,0091

3,58 x 10° = 3.580

9,45 X 10° = 9.450

8,6 x 10° = 8.600

9,47 X 10° =9.470

3,821:10°=0,003821

8,797 x 10° = 8.797

3,068 :10° = 0,003068

0,516 X 10°> =516

0,154 x 103 = 154

5,4:10°=0,0054

0,31:10°=0,00031

0,1 x 10° =100

8,7 x 10° = 8.700

6,36:10° =0,00636

7,9553:10% =0,0079553

9,0721:10°=0,0090721

2,631 x 10° = 2.631
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Multiply and Divide by 10° (G)

Find each product or quotient.

7,796 X 103 = 7,12:10% =
5,2 X 103 = 9,4806: 10° =
6,76 x 103 = 5,612:10% =
2,022:10% = 0,5 X 103 =
8,03 :10% = 1,972:10% =
2,4:10% = 7,07 :10% =
1,093:10% = 6,069 :10° =
1,5:103 = 3:10% =
5,738 X 103 = 4,347 x 103 =
9,824 :10% = 5:10% =

Math-Drills.Com




Multiply and Divide by 10° (G) Answers

Find each product or quotient.

7,796 x 10° =7.796

5,2 X 10° = 5.200

6,76 X 10° = 6.760

2,022 :10°=0,002022

8,03:10°=0,00803

2,4:10°=0,0024

1,093:10°=0,001093

1,5:10%°=0,0015

5,738 x 10° = 5.738

9,824 :10° = 0,009824

7,12:10°=0,00712

9,4806 : 10° = 0,0094806

5,612:10°=0,005612

0,5 x 10° =500

1,972:10%°=0,001972

7,07 : 10° = 0,00707

6,069 : 10° = 0,006069

3:10°=0,003

4,347 x 10° = 4.347

5:10°= 0,005
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Multiply and Divide by 10> (H)

Find each product or quotient.

9,1 x10° = 5,9464 :10°% =
0,2672 x 103 = 8,3:103 =
8,13:10° = 582:10% =
6,4192:103 = 79 %103 =
5,04 X 103 = 8,9 x 103 =
1,5712 x 10° = 9,2244 x 103 =
41 %103 = 6,1 X 103 =
1,86:10° = 2,4053 x 103 =
0,41 x 10° = 3,748 : 103 =
0,431:10° = 8,079 x 103 =
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Multiply and Divide by 10° (H) Answers

Find each product or quotient.

9,1 x 10° =9.100 5,9464 :10° = 0,0059464
0,2672 x 10° = 267,2 8,3:10°=0,0083
8,13:10°=0,00813 5,82:10°=0,00582
6,4192:10% = 0,0064192 7,9 X 10° =7.900

5,04 x 10° = 5.040 8,9 x 10° =8.900

1,5712 x 10° = 1.571,2 9,2244 x 10° = 9.224,4
4,1 x 10° = 4.100 6,1 x 10° = 6.100

1,86 :10° =0,00186 2,4053 x 10° = 2.405,3
0,41 x 10° =410 3,748 :10° = 0,003748
0,431:10°=0,000431 8,079 x 10°* =8.079
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Multiply and Divide by 10> (1)

Find each product or quotient.

9,1:10% = 2,2024:103 =
2,48 X 10° = 3,2049: 103 =
4,64 X 10° = 0,459 x 10° =
2,4:10° = 8,2:10% =
749:103 = 9x 103 =
22571 x 103 = 2323:10% =
4,73 x 103 = 41605 x 103 =
2,06 X 10° = 42842 :103 =
0,9:10° = 8,8 x 10° =
3,804 :103% = 98 x 103 =
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Multiply and Divide by 10° (I) Answers

Find each product or quotient.

9,1:10°=0,0091

2,48 x 10° = 2.480

4,64 X 10° = 4.640

2,4:10°=0,0024

7,49:10°=0,00749

2,2571 x 10° = 2.257,1

4,73 x 103 = 4.730

2,06 X 10° = 2.060

0,9:10°=0,0009

3,804 :10° = 0,003804

2,2024:10% = 0,0022024

3,2049 :10° = 0,0032049

0,459 x 10% =459

8,2:10°=0,0082

9 x 10°=9.000

2,323:10%°=0,002323

4,1605 x 10° = 4.160,5

4,2842:10° = 0,0042842

8,8 x 10° = 8.800

9,8 x 10° =9.800
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Multiply and Divide by 103 (])

Find each product or quotient.

5,3735 x 10° = 1,136 X 103 =
9,097 :103% = 58:103 =
5,0314: 103 = 2.03:103 =
5,4166:10° = 1,153 :103 =
1,8725 x 10° = 0,8x 103 =
3,21x10° = 2,87 :10% =
2,8842 x 103 = 6:103 =

7 x 10% = 2,57:10° =
3,2194 x 10° = 4,825 % 103 =
0,67 x 10° = 8,2939 x 10°% =

Math-Drills.Com




Multiply and Divide by 10> (]J) Answers

Find each product or quotient.

5,3735 x 10° = 5.373,5

9,097 : 10° = 0,009097

5,0314:10% =0,0050314

5,4166:10° = 0,0054166

1,8725 x 10° = 1.872,5

3,21 x 10° = 3.210

2,8842 x 10° = 2.884,2

7 x 10% =7.000

3,2194 x 10° = 3.219,4

0,67 X 10° =670

1,136 x 10° = 1.136

5,8:10°=0,0058

2,03:10°=10,00203

1,153:10%°=0,001153

0,8 x 10° =800

2,87 :10°=0,00287

6:10°= 0,006

2,57 :10°=0,00257

4,825 x 10° = 4.825

8,2939 x 103 = 8.293,9
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